ENGR-2060

E.M. - DYNAMICS

NAME DATE

WEEK: PROBLEM:

GIVEN: ¥

At = 0, two projectiles A and B are
simultaneously launched from O with the initial veloci-
ties and elevation angles shown. Determine the velocity
of projectile A relative to projectile B (a)at 1 =0.5 s
and (b) atr =1 s.

10 m/s

REQUIRED:

SOLUTION:

Solution:

vy = —(9.81 m/s*j)r + (10 nv/'s)(cos 60°i + sin 60° j)
vy = —(9.81 m/s*j)t + (10 ms)(cos 30°i + sin 30° )
Vayp = Va — Vg = (10 m/s){—0.3661 + 0.366])
Vasp = (—3.660 + 3.66)) mis

Since vy, p doesn’t depend on time, the answer is the same for both
times

Vasp = (—3.660 + 3.66)) m's
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